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Name ______________________________

Short-answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  The market value of Libbey’s stock is $339 million but intends to repurchase 2 million of its 13 million shares at a price of $40 per share.  What will be Libbey’s market value per share after the repurchase (assuming nothing else changes).
2.  According to the Tax Arbitrage theory, what relationship should exist between the dividend yield and the pre-tax return on stocks?

3.  List (but do not discuss) 2 advantages of repurchasing shares with transferable put rights rather than through a tender offer.

4.  Miller and Modigliani show that stockholders should be indifferent to an additional dividend under a set of very unrealistic assumptions.   One way they show that stockholders should be indifferent is the fact that stockholders can undo the impact of any dividend payment.  In Miller and Modigliani’s world, how would stockholders go about undoing the impact of any dividend they receive from a firm?

5.  If you buy shares of Murphy Oil today you do not get the next dividend that will be paid.  What is the name given to today (for Murphy Oil) by the securities industry?

Problems/Essays

1.  Wal-Mart is considering building a new store at a cost of $3,000,000.  The new store is expected to generate net cash inflows of $100,000 when it opens 6 months from today.  Net cash flows at the new store are expected to grow at a rate of 0.4% per month until the store closes 15 years from today.  Once the new store is opened, net cash flows at existing stores around the old one are expected to fall from $450,000 per month to $370,000 per month.  Note that the net cash flows at these existing stores were expected to remain constant for the foreseeable future.  The beta of the new store is about the same as for its existing stores which have a beta of 0.9.  However, since the area is still a relatively new one for Wal-Mart, the beta of area stores exceeds the overall beta for Wal-Mart’s stores of 0.8.  Assuming that the risk-free rate of return is 1.7% and that the market risk premium is 6.5%, what is the impact on the value of Wal-Mart of building the new store?
2.  Clorox Inc. is considering building a new facility in Germany for manufacturing Hidden Valley dressings (yes, Clorox owns Hidden Valley) at a cost of $5,000,000 and an expected net present value of $1,500,000.  The facility will be funded with internally generated cash and by issuing bonds that mature for $4,000,000 in ten years.  The facility itself is expected to have a useful life of 15 years.  Because Hidden Valley ranch dressings are not as established in Europe, Clorox estimates that the standard deviation of returns on the new facility will be 45% which is higher than the 32% standard deviation of returns on its facilities in the United States and the 36% standard deviation of returns on its world-wide assets.  Similarly, the beta of the new facility is relatively high at 0.8 compared to a world-wide beta of 0.7 and a US-facility beta of 0.65.  If sales do not meet expectations, Clorox estimates that it can sell the facility to a British salad dressing maker for $3,000,000 at any time over the next 5 years.  The risk-free rate (all APRs assuming continuous compounding) varies by maturity as follows:  1-year = 1.69%; 5-year = 3.69%; 10-year = 5.01%; 15-year = 5.21%; 20-year = 5.4%; 30-year = 5.35%.   What is the impact of building this facility on the value of Clorox?
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3.  Over the past 4 years, Safeway and GAP stock have earned the following returns (returns are from May to May of each year):

Year
Safeway
GAP
2004
20
30

2003
-54
17

2002
-20
-52

2001
10
-11

a.  What is the covariance between these two stocks?

b.  If you invested $40,000 in Safeway and $60,000 in GAP, what is your best estimate of the standard deviation of return on your portfolio?

4.  One of the themes running through corporate finance is the impact of different groups that have a stake in the firm’s actions having different information about the firm.  Discuss the impact of these information differences between groups has on the capital structure and dividend decisions made by firms.   Be as specific as possible.

5.  Another theme running through corporate finance is that the future it always at least to some extent uncertain.  How does this uncertainty about how the future will unfold impact the projects the typical firm will decide to undertake?  Another way to think about this is how will the projects undertaken differ when no one know exactly what will happen in the future compared to if the future were known with certainty.  Be as specific as possible.

6.  Yet another theme running through corporate finance is the fact that the interests of groups with a stake in the firm’s actions often come into conflict with the interests of other groups with a stake in the firm’s action.  Discuss actions by the firm (or by those with a stake in the firm’s actions) that attempt to reduce these potential conflicts of interest.  

7.  Assume that Nader is elected president and that he raises corporate tax rates to pay for increased environmental law enforcement.  How will this increase in rates lead firms to make different decisions than they would have if Bush had been re-elected (and as a result corporate taxes were not raised)?  Be as specific as possible.

